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TH U-TF § 24 WY [WUS-IH (20) + WUG-F (4+4)] 71 12 Hied T & |

Roll N‘o. Code No 62/ OSS/Z

SRERIE

GEOGRAPHY

! Set/'@? A

(316)

Day and Date of Examination

girer &t feq a fesien

Signature of Invigilators 1.

fiterent o gETeR

2.

General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 62/ OSS / 2-A on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. You are required to indicate the
language you have chosen to answer in the box provided in the Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.
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There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying 1 mark each. Answer to
these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions carrying
2 marks each. Answer to these questions should not exceed 60 words each.
Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4 marks
each. Answer to these questions should not exceed 100 words each.

Question Nos. 14 to 18 are long answer questions carrying 6 marks each. Answer of
each of these questions should not exceed 140 words each.

Question Nos. 19 and 20 are on filling Outline Maps of the World and India respec-
tively. Each question contains 4 test-items of very short answers of 1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer is
allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one of the
options.
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SECTION - A/@Us - A
1.  State the importance of ozone gas in the atmosphere. 1

agHed # SIS 19 % Wewe 1 Seaid iy |

2. What is meant by sex ratio ? Name the state which has lowest sex ratio in India. Y2+Y2=1

T T & @ iU 82 wRa ® =pAaw o ST arel T o6 am fafem )

3.  Mention the relationship between pressure gradient and wind speed. 1
RIS YaUIdl 3IR e i T o S T 1 3eer hiteld |

4. Name any two states of Northern India whose Human Development Index is greater than
the national average. Y2+Y2=1

IR NG & fH < Ui % W fafaw, e ame fawm gesis TE ofaa 9 s 7

5. How is an ox - bow take formed ? Explain. 2

TR Sfet s T R TR B § 1 T it

6.  Distinguish between mountain breezes and valley breezes. 2

Tod THR 3R =1 THR o o9 3T T HiTSU |

7. How are Himaliyan rivers different from peninsular rivers ? 2

ferrerht feat, gagd Afedl | forg wer = €2

8.  Why have we not been able to achieve the desired results of watershed development
project ? Explain any two reasons. 1x2=2

Serg R Torerra afEisred | e1ufara afony ured e H g1 99 1 TRl Sl W e 2 IS o hu] T
HifTT |

9. In which area is dry farming practised in India ? Mention any two crops grown in such
1+1=2
area.

IR % T & § Ih T ot It 2 39 & B e T forl <1 wEell i Seoid Shife |

10. Which are the four main branches of systematic geography ? Write a main feature of each
branch. Ix4=4

eSS & ¥R IRAT SiF O € ? Yk Wl i Uk 9q@ faemar fafew |

11. Explain any four reasons responsible for the low productivity in the Arctic Tundra Biome.

c~ a o A~ A . A 1 4=4
SHlenlcen Vsl wlldAlH ﬁ hH 3HTgehdl %ﬁ m STAQHT Teh-gl < hTUI| Elﬁ AT hlSU | x
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1x4=4

12. Study the given map showing oceanic currents and answer the questions that follow.
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(12.1) The currents of which ocean have been shown in the map ?
(12.2) What is the general direction of flow of the currents in the southern hemisphere ?
(12.3) Name any two cold currents of the northern part of the ocean.
(12.4) Why does the coast of Alaska remain ice free during winter season ?
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13. Study the map given below and answer the questions that follow : 1x4=4

INDIA

ONSET OF SOUTH-WEST MONSOON
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(13.1) When does south-west monsoon strike the Kerala coast ?
(13.2) In which areas of India does south -west monsoon arrive last of all ?
(13.3) What are the probable dates of onset of south-west monsoon in Delhi ?
(13.4) Name any two stations which experience south-west monsoon between 5 June

and 10t June.
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14. Define the term “plain” describe any five points of economic significance of plains. 1+5=6

‘T’ vreg i aRenfya wifere | Femi % onifeie mewa % fa=l U fargedl 1 i s

15. What is meant by the term evaporation ? Explain five factors affecting the rate of evaporation.

1+5=6

‘TodteRor’ STee W o SITUYTE § 2 STdeRtul st X okl YeIferd shid ot Ui Shileh] ohi SATEAT hiTSIT |

16. Describe any six methods of water conservations.

(aWa

STeTEReyol o foru fonl ©: 3 &1 oviF wifeq |

1x6=6

17. Explain any six factors which are responsible for the localization of cotton textile industry in

Ahmedabad - Mumbai - Pune region.

1x6=6

TeUCEIe-EE-qo1 & B gl 9% SE % TEeor % fau Swert fhel ©: FRel P e

HifT |

18. What is meant by compact settlement ? Explain five major patterns of compact rural

settlements.
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19.
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The following four geographical features are marked by (A), (B), (C) and (D) on the given
political outline map of the world identify these features with the help of the following

information and write their correct names in your answer book. 1x4=4

(A) Mountain Range

(B) Lava Plateau

(C) Desert

(D) Grasslands

180° L 60° o* 60° 120* 120*
' 2 ! : { 1 T T
WORLD . AR Tfeeh
POLITICAL )
R . ) pei :
a@.ﬂg ' %"’ e o
‘@QE . 2 f - 70‘:; =
C e Gy | ' :
66" :bg ’ : ‘6'6"‘
o |
l
230 — —23%*
0= : S 0.!
g
' 7
SCALE dumr
: ¢ 200 MO0 600 o
L mrm—e—
} i ﬁ i i any S 1
180° 120° 0 v 50° 120 ; 1sor 3




U U HER & eHifae TEr-Amfeas § 9R diifes e & (A), (B), (C) 3R (D) & fe@mn = g1
T A ! A < TE RN Tl ¥ TR TR STk Tel A AU SR-gfken # fafaa

(A) TEqguR
(B) T 93R
(C) wHeHAd
(D) =
‘s?. i I':OI" 6;)‘ (‘J' t}o' l"zo' 120*
WORLD . HER Tt
POLITICAL i
A - E pe)
Pl T
] 5 X ¥ : ‘a'.u i
' —.6‘6%.]
&l |
|
— oté
| db
SCALE ¥ur
o 200 W00 600 ..
} i f! i ya N S ————— I
120° 120* 0 v 50" 120° ; e b

mgE
62/0SS/2-316-A | 9 292 [ Contd...



20.

The following four geographical features are marked by (A), (B), (C) and (D) on the given

political outline map of India identify these features with the help of the following information

and with their correct names in your answer - book :

(A) Mountain Range

(B)

River

©

4x1=4

Soil type (D) Coalfields
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21.

22.

23.

24.

21.

22.

23.

24.

SECTION -B/@E - &
OPTION - 1/ faseq - I
(Local Area Planning) / ( T o )

State main difference between primary data and secondary data. 1+1=2

TIfies eTiel IR fgdfiaes Tl & 9 H& 3T<R 1 Ieer@ hifoTd |

How are local resources essential for local area planning ? Explain. 1+1=2

T & e & fou e 9anE 59 YR 21awees € 2 T Shifsg |

Distinguish between a large scale map and a small scale map with example of each. 2+2=4

¢ T &% grfed IR S TM & THfas § SR TR HIfT | Y Fl Teh-Tah 30 ST |

Explain any four priorities of planning for the improvement of slum areas in India. 1x4=4

IR ¥ Afer sfeal & Gur & fau faem ot i 9] mafasad T Sifs |

OPTION - II /fa&eq - 11
(Geography of Tourism in India) / ( YR ® Ued YTe )

State any two characteristics of the royal train palace on wheels. 1+1=2

T 27 ‘U 31 =Eier’ it Rl 1 fodoanedi 1 Seer whifs |

Distinguish between ‘Hang gliding’ and ‘Paragliding’. 2
BT TeARfET’ 3 YureEfEn’ | ot T Hifeu |

How does touring help in the development of underdeveloped areas ? Explain any four
points. 1x4=4

iR STeufaRfad &l o faehrd H HH HeE Ha1 2 HIE =R fag v Sife |

Explain any four facilities provided by motels to the tourists. 1x4=4

Hieell g YRl Rl UG okl STHaTcll Tl aR gfaensdi sl Tt hifiw |
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This Question Paper consists of 24 questions [Section-A (20) + Section-B (4+4)] and 12 printed pages.
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2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 62/ OSS / 2-B on the Answer-Book.
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of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. You are required to indicate the
language you have chosen to answer in the box provided in the Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.
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There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying 1 mark each. Answer to
these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions carrying
2 marks each. Answer to these questions should not exceed 60 words each.
Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4 marks
each. Answer to these questions should not exceed 100 words each.

Question Nos. 14 to 18 are long answer questions carrying 6 marks each. Answer of
each of these questions should not exceed 140 words each.

Question Nos. 19 and 20 are on filling Outline Maps of the World and India respec-
tively. Each question contains 4 test-items of very short answers of 1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer is
allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one of the
options.
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10.

11.

SECTION - A /@Us - A

Name the two main gases of the atmosphere. 1

JRHEd St & 9@ 16 & T fafem

Name any two states of Northern India whose Human Development Index is greater than
the national average. Y2+Y2=1

IR RA & R < Ui % m fafaw, fee ame fawm gesis TE ofwa 9 s 7

Which pressure belt is known as ‘Inter Tropical’ convengence zone ITCZ ? 1

TRETS i A W TS 3id: FoTRieariia AfERo &' (TR HSE) F E Y H T S § 2

What is meant by sex ratio ? Name the state which has lowest sex ratio in India. Y2+Y2=1

T sgua | =0 iy €7 9Ra H = i et aret U 1 A fafe )

How is a delta formed ? Name the largest delta in the world. 1+1=2

T FY IA1 § 7 GOR F ol IS el 1 A fafaw |

In which area is dry farming practised in India ? Mention any two crops grown in such
area. 1+1=2

RA o T & H Y&k HT hl St €2 T8 & § IME T fhgl < wHell ol Seeid it |

Why have we not been able to achieve the desired results of watershed development
project ? Explain any two reasons. 1x2=2

SerE R Torerre qfiEsrel | o1ufard afiony ure e 59 99 91 TRl S W e ? hIE < hIu T
Tl |

How are Himaliyan rivers different from peninsular rivers ? 2

ferrerht feat, gagd Afedl | forg wer fa= €2

Distinguish between mountain breezes and valley breezes. 2

Tod THIR 3R =1et GHI & o9 3= T HITT |

Define the term ‘Human Geography’. Mention of any six of its sub branches. 1+3=4

A Yl Sl IR I S9! Tl ©: SIS 1 30 hiToT |

Explain any four reasons responsible for the low productivity in the Arctic Tundra Biome.

3Tehfeeh ZUST SAM § A Icdeehal & folt ISRl fh=l 9K ROl i SAREAT ShifSIT | s
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12.

Study the given map showing oceanic currents and answer the questions that follow.
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The currents of which ocean have been shown in the map ?

1x4=4

What is the general direction of flow of the currents in the southern hemisphere ?

Name any two cold currents of the northern part of the ocean.

Why does the coast of Alaska remain ice free during winter season ?
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13. Study the map given below and answer the questions that follow : 1x4=4
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(13.1) When does south-west monsoon strike the Kerala coast ?
(13.2) In which areas of India does south -west monsoon arrive last of all ?
(13.3) What are the probable dates of onset of south-west monsoon in Delhi ?
(13.4) Name any two stations which experience south-west monsoon between 5 June

and 10t June.
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(13.1) T T W T-IT=H HAGA el Tga § ?

(13.2) IRA & T o # sferor-ufyes aree o) o1 § Ige € 2

(13.3) foeett # <ferur-ufeem AmgA % e S genfaq fafeat = €2
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14.

15.

16.

17.

18.

Describe any six points of economic significance of mountains. 1x6=6

Teldi o AT Hed o fohwal ©: fargall o1 9ui Sifs |

What is meant by compact settlement ? Explain five major patterns of compact rural

settlements. 1+5=6

e A & o ATy ¥ 2 Iee I it & i W wiawl ot e Hifs |

Explain any six rules formed by Arvari Sansad for maintaining ecological balance in Arvari

river basin. 1x6=6

AR 1S} SfFA B 9AfaRvie Gge 9T WA & Tt st 99 g oA T TRl ©: fremt ot
AT HITST |

What is meant by the term evaporation ? Explain five factors affecting the rate of evaporation.1 _
+5=

‘ STedeRTur’ Tee W ST AU & 2 SITOHIShIuT i S ohl GHITS Shidl ot Uil ShIehi hi ST ShiTSU |

Explain any six factors which are responsible for the localization of cotton textile industry in

1x6=6
Ahmedabad - Mumbai - Pune region.

STeUCEIe-EE-qo1 & B gl 9% SE % e % fau Swert fhel ©: FRel e
it |
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The following four geographical features are marked by (A), (B), (C) and (D) on the given
political outline map of the world identify these features with the help of the following

information and write their correct names in your answer book. 4x1=4

(A) Mountain Range

(B) Lava Plateau

(C) Desert

(D) Grasslands
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U U HER & eHifae TEr-Amfeas § 9R diifes e & (A), (B), (C) 3R (D) & fe@mn = g1
T A ! A < TE RN Tl ¥ TR TR STk Tel A AU SR-gfken # fafaa

(A) Teagof
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20. The following four geographical features are marked by (A), (B), (C) and (D) on the given political
outline map of India identify these features with the help of the following information and with
their correct names in your answer - book : 4x1=4
(A) Mountain Range (B) River (©) Soil type (D) Coalfields
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21.

22.

23.

24.

21.

22.

23.

24.

SECTION - B/@S - &
OPTION - I/faereq - 1
(Local Area Planning)/( Tm=ia & i)

How are local resources essential for local area planning ? Explain. 1+1=2

T &5 A & fau e e e geR stewes €2 W Sifsu

State main difference between primary data and secondary data. 1+1=2

Tafyer eTiel IR fgdftaes sTidhel & e & 3T o+l Ieeid hifod |

Explain any four priorities of planning for the improvement of slum areas in India. 1x4=4

IR ¥ Afer sfeal & Gur & fau e ot E 9] mafasad T Sifs |

Distinguish between a large scale map and a small scale map with example of each. 2+2=4

¢ T &% grfed IR S M & THfad § SR TR HIfT | T Fl Th-Tah 30 ST |

OPTION - II/fa&eq - 11
(Geography of Tourism in India)/( YRa ¥ UEeT YIel )

Distinguish between ‘Hang gliding’ and ‘Paragliding’. 2

‘T Temsfen’ 3R tRresfen’ § et T wifw |

State any two characteristics of the royal train palace on wheels. 1+1=2

IR o7 erg o1 =ia’ &t fhl < favarsdi &1 Seer@ wifs |

Explain any four facilities provided by motels to the tourists. 1x4=4

Hieel g TRl Rl UG okl STHaTcll Tl aR gfaensdi sl Tt hifia |

How does touring help in the development of underdeveloped areas ? Explain any four
points. 1x4=4

iR STeufaeRfad &l o faerd H S HeE a1 2 HIE =R fag T sifee |
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This Question Paper consists of 24 questions [Section-A (20) + Section-B (4+4)] and 12 printed pages.
TH U-TF § 24 WY [WUS-IH (20) + WUG-F (4+4)] 71 12 Hied T & |

Roll N‘o. Code No 62/ OSS/Z

SRERIE

GEOGRAPHY

Q-Eﬁﬁ Set/'@? C

(316)

Day and Date of Examination

girer &t feq a fesien

Signature of Invigilators 1.
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2.

General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 62/ OSS / 2-C on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. You are required to indicate the
language you have chosen to answer in the box provided in the Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.
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SRR
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Time : 3 Hours ]

HHY .

3902 ]

GEOGRAPHY
UYIMA

(316)
[ Maximum Marks : 80

[ quiiek : 80

Note :

(vii)
(viii)

(ix)

There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying 1 mark each. Answer to
these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions carrying
2 marks each. Answer to these questions should not exceed 60 words each.
Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4 marks
each. Answer to these questions should not exceed 100 words each.

Question Nos. 14 to 18 are long answer questions carrying 6 marks each. Answer of
each of these questions should not exceed 140 words each.

Question Nos. 19 and 20 are on filling Outline Maps of the World and India respec-
tively. Each question contains 4 test-items of very short answers of 1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer is
allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one of the
options.

Tl FoA G 24 ¥ |

|t g9 etfer €

ol Y % WA 39 fuifta e fog o ¥

T HE&A 1 W 4 qh 3ot 3id U9 § 31 T U9 1 1 37k ¥ 1 UW Yk T 1 S
30 WISl | 3Afereh 1 7 2 =R

T T 5 9 9 ek 31X 21 7 22 ot AfeT-Sua T ¥ IR TS T F 2 3k B | TH 9
T T 1 IR 60 VRl T 31fereh 1 T 1 =R

¥ &A1 10 9 13 T 23 TAT 24 TI-STT T €, TS0 T JIF & 4 37 &1 30 9 70
T T IR 100 Vsl § sk 1 =& 2 =nfe |

T T 14 9 18 T H-IT U § IR YAH U o 6 3 T | TH TIH Y9 Hl IW
140 W3} W Afersk 1 Tl &1 =R

I HE&AT 19 3R 20 HEW: HOR 3R 9IRA & @1 gEfEE & R W E 1 qIw 79 A
3Tfery-3a St 4 TV 7S 1-1 3F & L

3T ST I T Y o foau Y gHtes s & fore drei =1 ©faet & wam wi swafa <
S |

Que-9 H Y G121 9 24 Teh o IR fordlt Wk faskhed & § ST
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SECTION - A /@Us - A

1.  Mention the relationship between pressure gradient and wind speed. 1
RIS YaUIl 3IR e i T 6 S T 1 3eerd hiteid |

2. Define the term ‘diurnal migration’. 1

‘Sfer gerE’ o1 it shifsa

3.  State the importance of ozone gas in the atmosphere. 1

agHed # SIS 16 % Wewe 1 Seaid iy |

4. Name any two neighbouring countries of India which have higher rank in Human
Development Index than India. 2+ =1

IRa & foreel < vt <t & m fafew, fowe ae fawm gasis YR | 98® T

5. Why have we not been able to achieve the desired results of watershed development
project ? Explain any two reasons. 1x2=2

Serg ey Torerre afErsred | e1ufara afony ured e H 51 99 ) TRl Sl W e 2 IS o hu] T
HifTT |

6. How are Himaliyan rivers different from peninsular rivers ? 2

fermerht feat, gagd Afedl | forg wer fa=1 €2

7.  Distinguish between mountain breezes and valley breezes. 2

Tod THR TR =1 THR o o9 3T T T |

8.  How is an ox - bow take formed ? Explain. 2

TR it <1 TmTor fhe JehR &I § 1 T hifeTy |

9.  What is wet farming ? Mention any two major crops grown in wet farming areas. 1+1=2

3T T T Fed €2 1 T &5 § TR S arelt Tl < THE el 1 Seold hif |

10. Which are the four main branches of systematic geography ? Write a main feature of each
branch. 1x4=4

HUES i i g&7 =R IRAE hiF O €27 FIeh Wl i U 5qE e fafa |

11. Explain any four factors affecting character of a biome. 1x4=4

ST ot fagroareti sl gunfad s aret foh=8l R hehi shi SHTEAT ShifSTT |

mgE
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12. Study the given map showing oceanic currents and answer the questions that follow. 1x4=4

T — . :
_ h_'):y;) x® § 3 —_ :" ?‘ “pr~ - }
# ’!' ‘fg % \ (o . : A
v é et SN \ ¥,
T e iz Curreny ho 3 PN
m"“\ y %‘ - 1;_‘]-’ b ks
i ' 4 i
", ( flg “ f N
_S”/ . ‘ "’ \‘* U\—H
: W~ North Equtoriol ¢ L=l TN 2,
s Ay i T e .-..-..:_—..-..w:> -
= NG s oo e Emoam £ o L e
i k‘;‘(( South Equitonpl C T b % ¥,
X
_ vy o
2
£ Lo} 1. ’J)
5 __S_c_m!h s x Current _'.-’, { J
— LoV, ouements
el T T g T T B T S e - — ca
- -—— ‘Worm
(12.1) The currents of which ocean have been shown in the map ?
(12.2) What is the general direction of flow of the currents in the southern hemisphere ?
(12.3) Name any two cold currents of the northern part of the ocean.
(12.4) Why does the coast of Alaska remain ice free during winter season ?

feu e grEfas @ etega Fifae, fSoH TerR S aeti i femman T 3R 6 e feu T ueHi
%WW :

v#: I faqwita win TS £ = A
-@F_‘ facz ilru'r;a i ) .
!.q,_‘_'“it.%:fuvu fagadta 1?7
&
¥ 3

EE

o . rad ST
" qfewsl ATETE o= am g

(12.1) At H fRe AR St ariet i fogmn T E 2

(12.2)  <faoft Tiieng # wmsii % 5@ S | foem R ?

(12.3) TSR o I 9§ o arel fhgl a1 S<f gredi o a4 fafen |
(12.4) 3 g H TR qC 9% Tk T el § ?
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13. Study the map given below and answer the questions that follow : 1x4=4

T INDIA

t’ / ONSET OF SOUTH-WEST MONSOON
\ Sr:\oqu M_/
{ e_‘
£, F N
& Y. o~

PAKISTAN % \ ! W\

—, g h
'J ._.‘ . »

7 - ,." ’s

Do .

ARABIAR

SEA
¢
L =igd @ loo- 3?_109 ‘“_ gntn 4\;\,“.‘
IRDIANR OCEAN
! I RS DY 1 S R (e | - | P ————— o sep—
(13.1) When does south-west monsoon strike the Kerala coast ?
(13.2) In which areas of India does south -west monsoon arrive last of all ?
(13.3) What are the probable dates of onset of south-west monsoon in Delhi ?
(13.4) Name any two stations which experience south-west monsoon between 5 June

and 10t June.

mgE
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(13.1)
(13.2)
(13.3)

(13.4)

HTA T W RI0-I¥=H HAGA el Ugad § 2
IRA & T a1 # sfeqor-ufyes aree o) o1 § Ige €2
fooett § <feror-ufvem wmg & s w1 wrfed faferml a=m €2

=gl < Tl o T fafeae S Sfaor-ufem JmYE #1 5 57 @I~ 10 53 & o= T3y
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14. Describe any six methods of water conservations. 1x6=6

(aWa

STeTERetol o foru forl ©: Ul &1 oviF wifeq |

15. What is meant by the term ‘condensation’ ? Explain five forms of condensation. 1+5=6

‘HE' STee W ST SATYYE § 7 HEE o Ui WUl | SAREA] hITST |

16. Explain any six factors which are responsible for the localization of cotton textile industry in
1x6=6
Ahmedabad - Mumbai - Pune region.

JTEHSETE-FeE-T0 &3 H Yot 9% e & T & fou STerht fhedl ©: &rel &1 e
SHIfTT |

17. Define the term “plain” describe any five points of economic significance of plains. 1+5=6

‘B’ vreg i aRenfya wifere | Femi % onifeie mewa % fa=l U fargedl 1 i s

18. Explain with examples the three factors which influance the type of rural settlements in2 326
X =
India.

ORd H T Yl o YRR skl gIferd shid aTcl diF ShRehl ohl SSTRUIl Tfegd TIs Shifsu |
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19.

62/08SS/2-316-C | 8

The following four geographical features are marked by (A), (B), (C) and (D) on the given
political outline map of the world identify these features with the help of the following

information and write their correct names in your answer book. 4x1=4
(A) Mountain Range
(B) Lava Plateau
(C) Desert
(D) Grasslands
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U U HER & eHifae TEr-Amfeas § 9R diifes e & (A), (B), (C) 3R (D) & fe@mn = g1
T A ! A < TE RN Tl ¥ TR TR STk Tel A AU SR-gfken # fafaa

(A) Teagof
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20.

The following four geographical features are marked by (A), (B), (C) and (D) on the given
political outline map of India identify these features with the help of the following information

and with their correct names in your answer - book :

4x1=4

(A) Mountain Range (B) River (©) Soil type (D) Coalfields
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feu U wRa & SO WEr-aEtes | IR diifes dami 6 (A), (B), (C) 3R (D) gR1 fe@mn
T T Al Y S T SRR e ¥ TeEe IR IR el A o7 Iw-gikdent |
fafau .

(A) uEd (B) (C) TR H TER (D) I &3
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21.

22.

23.

24.

21.

22.

23.

24.

SECTION - B/@S - &
OPTION - I/faereq - 1
(Local Area Planning)/( T 8 e )

How are local resources essential for local area planning ? Explain. 1+1=2

T & TS & fou e 9anE 59 R 21evees € 2 T Shifsg |

State main difference between primary data and secondary data. 1+1=2

Tafye eTiwel IR fgdtae Tidhel & e & 3T H1 oo hifod |

Explain any four priorities of planning for the improvement of slum areas in India. 1x4=4

IRa | Afe afa@i & gur & fog e #1 a5 9r mefgsad s Hifs )

Distinguish between a large scale map and a small scale map with example of each. 2+2=4

TS YN F AHrET iR B THH & gEfes # 8T TR ST | Y 1 Teh-Ueh IS0l ST |

OPTION - II/faeseq - 11
(Geography of Tourism in India)/( YR & el U=ie )

Distinguish between ‘Hang gliding’ and ‘Paragliding’. 2
BT TeARfET’ 3 YureEfEn’ | o T wifeu |

State any two characteristics of the royal train palace on wheels. 1+1=2

e 7 Uorm 31 =Eier’ it Rl 1 fooanedl 1 Seer ifs |

Explain any four facilities provided by motels to the tourists. 1x4=4

Hieell g YRl Rl UG okl STHaTcll Tl o) gfaensdi sl Tt it |

How does touring help in the development of underdeveloped areas ? Explain any four
points. 1x4=4

iR STeUfaRfad &l o faerd H S HeE Ha1 8?2 HE 9R fag v sifee |
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